0.02245
0.3336
0.1604
0.3713

X :=Random (n)=

0.09113

.2285
.6137
.8952
.3446
.5624

Y:=Random (n)=

OOOOO‘V,

2 2
f(X,y):: a ., -x —|-2.axy.x.y_|_ay2.y _|_2.ax.x_|_2.ay,y+a

a:=1
x 22.X_.Y_y 22.x_2. —a ayz
1 1 1 1 1 2 12.84
— xy _32.
x 22.X_.Y_y 22.x_2. vi=|-a . . 32.24
9 272 7%, 2 2 . vz =M T.v=| 27.94
Me—|x 22.x_.Y_y 22.X_2. —a a, 16.55
= 3 3 3 3 —9.276
3 3 R
y
x 22.X .Y v 22.X 2.
4 474 Y, 4 4
2 2
2.X .Y 2.X 2.
X 5775 5 5
I, ::ax2+ay2=40.7861 Qo Byy Ayp Ay Iy
I,: =-680.4
Ay Gy2 I,:=|| 8xy 4y2 3y |[=459.5297
a, a, a
P 2 5.2 2 (p::—atan[axz_ayz_o,2-axy]=2.2412
[ x2 y2] +[ : xy]
o= _ =66.2189
51gn[I3]
[a a —a,.a a_-.a, —a_,-a ]
Xy v yv2 X X Xy x2
Q:= =[0.2401 0.609]
1,
vaxis(x,y)::cos((p).x+sin(§0).y—[cos((p).91+sin(<p]-92]
' ' ' ' "Hyperbola" if I,<0
"Ellipse" if I,>0 ="Hyperbola"
"Parabola" otherwise

augment (X, Y)

f(x,v)
vaxis (x, y)

N:= g vaxis (X, Y)>0=2

Hyperbola . or ellipse
"2+3 points" if (N=2)V(N=3)
"1+4 points" if (N=1)y(N=4)="2+3 points"
"0+5 points" otherwise



